V L o Y M
http://farbe.li.tu-berlin.de/eens/eensI0np.pdf /.psonly vector graphic VG; start output
see similar fileshttp://farbe.li.tu-berlin.de/eens/eens.htm

-
FapdX)= achromatlc receptor responsek calculated [ F,,(x,)=achromatic receptor responseX calculated Fabe,i(Xr)= relatlve ) achromatlc receptor response  |F,pc (%)= relatlve ] achromatlc receptor response

a=1,00, b=1,00 e=2,7182 /A a=1,00, b=1,00 e=2,7182 &% 00, b=1,00 e=2,7182 o/a g 00, b=1,00 e=2,7182
[ FopdXe)= bBW,_—xa =bptanh[x,/a] = 1,00,8=1,00, examples [ FapdXr)= bBTJ—,xa =bBtanh[x,/a] c=1,00, [ Fap(%r)= b[.'Sﬁ—,Xa e 00, examples [ Fapd %)= bBTJ—,xa BW

X /c g,/a
></c e><,/c :Bx/a —x/a

34

=

ac‘r(

— r a=1.0 b=1.0 b/a=10 a=0.66 D=1.0 bla=1.51
FandXr) = > FapdXr) = ¢=1.0 b=1.0 b/c=1.0 =0.66 b=1.0 blc=1.51
oA N -W ———\\ o — =N o =L
Macry+=0.0 Macry+=0.0
a=1,00 5:1,00 Eja:I,OU a=0,66 E:LDO S//azl,Sl 2 & Ie 2 & la 2 éX,/C ex,/a
©€=1,00 b=1,00 bfc: lr%(i?:ws ©€=0,66 b=1,00 bic: %‘321‘47 P i /ay g xla ey g MlC L e Na
range range range range

of office of office of office of office
luminance luminance luminance luminance
: :

= &:b 1 ; B ; 1x=0 : =log[L/L ] 2 =4 &:b 1 ; B | m:b
een51-2a
b X )= achromatlc receptor responsek calculated abd %)= achromatlc receptor response& calculated ahe) (X)= relatlve n achromatlc receptor response s 05)= relatlve ) achromatlc/receptor response

_ g xla a=1,00, b=1,00 e=2,7182 _ X /a 1,00, b=1,00 €=2,7182 _ X/ a=1,00, b=1,00 e=2,7182 X 00, b=1,00 €=2,7182
g € . € e |
L FapcX)= me =bptanh[x,/a] c=100521,00, examples A Fpdx)=bp < m =bptanh[x,/a] o=1,00/p=1,00, examples TFapdx)= me + bﬁm ¢=1.008=1,00, examples| . $Fopo(x)=bB < m +b ey

—bﬁi ‘b[}L =b —DBL
= xlc fx,/c = ex,la*_efx,/a = +e X = x,/a fx,/a

%) =( )12 Facr(X¢) = ( +

ac,r

WIS 99S
[ 16a1 gn.L

uoneis

al

dnyuonewloyul eaIuyda)

di@j1as ajoym ayj Jo saji Je

040€20¢

Fac‘r(xr) =( = )12 Fac,r(xr) =( s

i 3=07 b=10 bla=1.42 2=0.75 b=1.0 b/a=1.33
FapdXr) = FapdXr) = €=0.7 b=1.0 blc=1.42 c=0.75 b=1.0 blc=133
W ) gy —OJ—O-W 4»-—OJ—-—W~
Mac,r,v+=0.0 Mac,r,v+=0.0
a=0,70 b=1,00 b/a=1,42 a=0,75 b=1,00 b/a=1,33 efx,/c é><,/a éx,/c ex,/a
€=0,70 b=1,00 b/c=1,42 €=0,75 b=1,00 b/c=1,33 =2 e e =2 Ry gwa =2 ey e =2 Ry R

my.=1,39 my4+=1,30

lI'agey//

range range range range
of office of office of office of office
luminance luminance \umlnance Iummance
' ' : 1 1
t - t t

=1 x=0 : B x=0 1

b X )= achromatlc receptor response calculated abd %)= achromatlc receptor responseX calculated b, (X)= relatlve (r) achromatic receptor response
fa_ a=1,00, b=1,00 e=2,7182 e a=1,00, b=1,00 e=2,7182 - & a=1,00, b=1,00 e=2,7182 —g X
LX) = be’/a—?x/a =bpBtanh[x,/a] c=1/00,8=1,00, examples 3+ FapdXr)=bB xrra ?x T 7bBtanh[x /a] ¢=1,008=1,00, examples 3__FabC )= me bﬁh ©€=1,00,8=1,00, examples N abc(x )= bﬁm befc—,xr,C
x,/a ex,/a
=bp xl X la _bB +e X :bBex,/a+efx,/a

e gk

al

3

sd‘/ jpd-dug|guas/guas-

Fac‘r(xr) =( = )12 Fac‘r(xr) =( >

a=1.33 b=1.0 b/a=0.75 a=1.41 b=1.0 b/a=0.7

Fapd(Xr) = c=1.33 b=1.0 b/c=0.75 c=1.41 b=1.0 b/c=0.7
AL W W

A
v Magyy+=0.0 Macy+=0.0
a=1,33 b=1,00 b/a=0,75 a=1,41 b=1,00 b/a=0,70 efx,/c x,/a §><,/c ex,/a

©€=1,33 b=1,00 b/c=0,75 ©€=1,41 b=1,00 b/c=0,70 S22 o=yt = = E2 et =2 ==
y.=0,74 My,=0.70 ex,/c_‘_ 5 X /c x,la+ & X la ex,/c+ 5 X Ic ex,/a+ 5 X la
range range range range
of office of office of office of office
luminance luminance luminance luminance
| + : + | + + :

“1x=0 X =log[L/L ]|~ -1 %20 X, =log[L/L ] 2 -1xz0 X =loglL/L |~ 2 -1xz0

wiy'sussep ullieq-ny 1'eqmel//

b X )= achromatlc ieceptor responsegf()%ablcluoll?gezdmz abd(X)= achromatlc receptor response& cat!cuolggezdm2 abe,(Xr )—relatlve n achromatlc recez\)tloororbeslpm())?ie7182 abe, (%)= relatlve )] achromatlc receptor reslpoggggm
Xela_ = - T = - 1 3 =1, =2,
[ FandXr)= bB = /a ?x fa = =bftanh[x;/a] c=1,00,8=1,00, examples [ Fabc%r)=bB x,/a ?x a =bptanh[x./a] C‘l 008=1,00, examples 3+ FandXr)= bB = /a & X2 +bp x,7c+ & xle ©=1,00,8=1,00, examples [ FabcXr)=bB x,/a Xl +bp x,?c g xle

al

indino juud 1o Aejdsip Jo Juswainseaw pue uoleneAs 1o} uoledldde

.
S
o
=
5.
o
D
o
-
>
=

©
=
Q
S
o
-
;.
S
o
<
5.
o
)

3
&% /c x,/a _ —x,/c ex,/a

:bﬁ x,/c+e X Ic =bp x,/a+e X /a :bBex,/c*_efx,/c :bpex,/a+ex,/a

Faod) = ( * )12 Foor%) = ( +

~ [ a=0.84 b=1.0 b/a=1.19 a=1.27 b=1.0 b/a=0.78
—\ -OJ—.

FapdXr) = * FapdXr) = c=0.84 b=1.0 blc=1.19 =1.27 b=1.0 b/c=0.78
— W

[euarew gn.L

O
Mac,r,y+=0.0 Mac,r,v+=0.0
a=0,84 b=1,00 b/a=1,19 a=1,27 b=1,00 b/a=0,78 eX Ic x,/a éx,/c ex,/a
©=0,84 b=1,00 b/c=1,19 €=1,27 b=1,00 b/c=0,78 =2 —7——, =2 £ =2 —F—— =2
mys=116 0, = /c_‘_ & X Ic X /a+ e X /a = /c+ 5 X /c = la
range range range range
of office of office of office of office
luminance luminance luminance luminance
: : . : : : . : : : :
t t ' t t - t t ' t t ' t t t - t ' t t
-2 -1x70 log[L/L ] -2 -1x70 x, =log[L/L ] =0 X, =log[L/L,

een50-7a een51-7a een51-8a

— TUB-test chart een5; TUBJIND model, lightn€sge Fanc s receptor responsésyR*),
Fen(GT), FagtFen(Y™) (left), relative responses (right) for equal parameters a and b

46 -X la

=tclooe]

|

L




